Who among the following is known as
Kalidas of Haryana ?

(A) Deepchand Bahman
(B) Kishan Lal Bhaat

(C) Swami Hardev

(D) Pandit Bhatru Qutbi

If sin® + cosech = 2, then
sin“6 + cosec2f =

(A) 8 (B) 1 i
(C) 4 (D) 2 E%ﬁ

Ly 4

In notation, operators
are placed before the corresponding
operands.

(A) Prefix (B) Postfix

(C) Infix (D) All the above

Sonipat is called as City of

Haryana.
(A} Golden (B) Global

(C) Science (D) Silver

The vertical member of wood or metal
supporting the handrail is known as

(A) Wall plate (B) Baluster “~
(C) Arch (D) Voissor

Which among the following
Constituencies does not come under

Bhiwani district of Haryana ?
(A) Loharu (B) Dadri

_-{C) Badhra (D) Meham

7.

C

If sinx + cosx = a, then sin®x + cos®x =
3r.m %
(A) Z(a 1)

(B) g(az -1)

(€) 1--431(512 -1)°

(D) 2_%(32_1)2
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-

e
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1. T=feriad § @ ford THEmn #1 Ffem

FEd o 7
\./ﬂf)' HEC R

(B) ToRM et T2

(C) @l §ea

(D) Ufsd Ha® 33@:-']

2.

‘1‘

< U\,

aRsi A @ PR
sinB + cosecl = 2 &l, dl (9, ~ | 5" A4

sin20 + cosec20 FHT A M E/ S

(A) 8 L-1B) 1

(C) 4 (D) 2
3 TIH ¥, AT I Faled
ATE F Ygol T a7 © |
(A) STt (B) UIeithard
(C) 3i-%haa |_AD] 39E g+l
4. OrUd Sl EREn =5 TR &gd @ |
L/{ﬁrwﬂf - (B) dfvaeh
(C) Tagm (D) =T

5. el I HeW o dTc] <iehel AT ©Tg <h

FARL MR FEIHIAASEr e |
(A) TARE | _AB] SRR

(C) 3Teh

(D) 98

6. Tmfcfgd § @ +H-91 99 &F ghEmn &
foramt ot < STavid =18t oTaT ?

(A) TTETE

(B) e
(D) e
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8. The preserved traces of living
organisms are called
(A) Photocopy (B) Skel Clxlo)
(C) Statues V{‘D‘) Fuss?lt;n 35}'?%
9.

In India the ‘Nationa] Wome
observed every year on

(A) 24 February (B) 13 February
(C) 13 January _AP) 23 January .

10. India’s first Aero Sports Centre was
opened in which place of Haryana ?

L{Jﬁ() Narnaul

(C) Loharu

n’s Day’ is

(B) Narwana
(D) Manesar

11. If Pis the sister of Q, B is the sister of

Q and P is the sister of D, then which

of the following statement is definitely
true ?

(A) D is the sister of P
(B) Q 1s the sister of B
(C) Q 1s the sister of D

L/(D—}*F’ is the sister of B

12. Which of the following is not a type of

door ?

\_{AT Clerestory L
(B) Panelled

(C) Flush
(D) Battened and ledged

;s known as architect of
modern Haryana.
(A) Om Prakash Chautala
(B) Dr. Sarup Singh
\_{€&) Bhajan Lalv"
(D) Chaudhary Bansilal

is a set of values from
tribute can take a value

13.

14-

which an at
in each row.

[A] Degree [B) Attribute

14

(D) Domain

@) Tuple
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8. Siifaa sfral & grferq =171 =z=ma &

(A) BIZTFTT (B) FFTA

(C) Fferai (D) =17
9. WA # ‘i Afeen feame yfead

EIREIRIESIGUGE

(A) 24 TG (B) 13 =41

(C) 13 SiHaq] (D) 23 FAa71

10. YTd &1 981 U4
HE 91 @iem 147 ¢
(A) TRATSA

(ORSIEES

(B) FTET
(D) HHET

gfc P, Q %l 5ed €, B, Q I 984 & 31
P, D =1 987 8. o1 fa=ifeifiga § & -4
FYH Hfrgadi wWEm g ?

(A) D, PHiaed 2

(B) Q, BHhI d&7 &

(C) Q, DHI =& &

(D) P, BHIagd 8 —

12. T=fciEd 4 9 :9-91 @ &1 U

YFEH e 8 ¢
(A) FALM
(B) Tes

S 5
(D) dIZ8 3N Tve A%

k = ATYHF ST 1 TR
*Ed © |

(A) ATH TN HIeTel
(B) . oY T4

(C) ¥sH AT

(D) =udt s

; oHl F T TR § el
UGS Teh Ufdd H T 0 o Thell € |
(A) fetit (B) Uiesge
(C) T9 (D) S

C
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Sohna Car rally passes through the

15.
district of Haryana.
.\/M) Gurugram (B) Ambala
(C) Faridabad (D) None of these
16. Complete the following analogy.
United States : Bald Eagle : : India : ?
(A) Peacock (/LB]/Cheetah "
(C) Lion (D) Sparrow
17. How many total number of members
are nominated by President to Rajya
Sabha ?
(A) 15 (B) 02
\ o1z (D) 06
18. is used as food preservative.
(A) Saccharin
(B) Alitame
L/(/C)"Sfjdmm benzoate —
(D) Sucralose

19. What is the population density of
Haryana as per census, 2011 7
(A) 573 persons per sq. km
(B) 855 persons per sq. km
(C) 666 persons per sq. km

| (P} 733 persons per $q. km ,

If tan® = 3, 6 lies in the 3 quadrant,
then the value of sinf is

A)f L/fﬂl/z/f

(D) -

20.

————— ——
e ——

© 7o 75

21. Which Enzymeis presentinthe Human
Saliva that breaks down starch into

simple sugar 7 -
\_—{A) Salivary amylase °

(B} Sucrase

(C) Renin

(D) Pepsin .

E,E EEIE
} [
=

AD-A - 2021

15. W1 &R ol forer & o 2 |

A(A) TEIH (B) FHTett
(C) HLIETETe D) 398 H i T8l

16. T=fafiga guaeyar guf shifsg |

TR o : TSI 7168 ¢ : W @ 7

(A) AR (B) =idT __E}E
(C) IR (D) ferfean [=1%
17. TS99 & Pl oha Taedl sl Uegdfd
T T g 7
(A) 15 (B) 02
___ACT 12 (D) 06
18. 1 UGN QT YTk & ®Y
o R ST © |
(A) TRl
(B) 3Tl
(C) TifeTm Ssiige
(D) Gehelisd
19. 2011 @l SHIUMT o 3TJUR BN <kl

SR U T © ¢

(A) 573 Sfed Jid a7 ford]
(B) 855 =faa i a7 fepe
(C) 666 =Afad Uid o ferH

(D) 733 =fad id =i fenst
20.) IE tand = 3, B?ﬂ'ﬂi'ﬂ@ﬁiﬁﬁ%, al sin

&1 |9 8

3
®) Jio B) —=
© 75 D -7

g AR A -1 TS1EH HISE BiaT & S
=T 6 HTE:ITIUTEﬂ?ﬁﬁn‘ig adT e ?

(A) TETgall TS
B]g%

(C) T
(D) U=

21.
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22. The National Youth Po

launched in February 2014 defined
Youth’ as persons in the age group of
“TA) 15-29 Years

(B) 20 — 40 years
(C) 18 — 25 years
(D) 15~ 35 Years

licy (NYP—2014)

23. Which among the following districts

dn&:s not come under the semi desert
plain in Haryana ?

\_/fﬂ‘)"K:j;l:ma] " (B) Sirsa
(C) Hisar (D) Fatehabad

If:{—lc}g 7,y =log. 9, then =
T 9 7 Xy
} -
IEI%E

A) 5 B 1

(C) O (D) 2

25. The two vertical members of door
frames are known as

(A) Beam (B) Sill
S Post (D) Panel
26. does not undergo Friedel
Cralits reaction.
(A) Toluene \_{BY Aniline -
(C) Cumene (D) Xylene
27. operation is used to get

the common tuples from two tables
and is represented by symbol .

(A) Minus (B) Union
(C) Intersect D) Difference

28. This was a famous Urdu newspaper
published from Haryana

(A) Haryana Samachar
l_/-'(Bj Haryana Kesari

(C) Haryana Tilak

(D) Savdhan

23000227
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22. Sl 2014 # Y& H T T FA AT
(NYP — 2014) < gaisil =l 2
T IR 1 =3 ad Sarn @ |
(A) 1529 99
(B) 20 — 40 9§
(C) 18 =25 a9
(D) 15 - 3599

=1 15 8 a1 e gfarn |
Al AeE & STaria T2 7rar 7

(B) &

IRTHEI

23.

(A) SHETH
(C) TeER

24,

e x = logy7, y = log., 9, | Xy <hl HIH

BT

1
®) 5 ®) 1
©) (D) 2

25. TS o hH o T SEETET 0 &)
Erem S H SIS |
?é??@ (A) sH

= (B) T
RIS oy i (D) ¥
26. =11 ¥ ol wEea wme wiikm T
BIAl B 7
(A) e (B) THTel
(C) (D) STRIefH

27. A AR ¥ IS oo T S ¥

feu ARTH 1 Iw Ty
ST 2 3T T ~ il S0 ST sian 2 |
(A) HTETE (B) I
(C) T (D) Tem=
28. IT FAU H TR B ST 3¢ GHISRTS
o
(A) BT FHET
(B) BT Sy
(C) TR foeten
(D) HiaH
" LAY
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Directions 29 ang 39 . w A . . 5
come next 7 0+ What number should | fiyr 29 st 30 : sref s 71 8 e 7
1 d‘“
o ST, 29. 37, 48, 59
A \ ’ £y ’ o —
0 86 T A) 68 (B) 70
D) 84 (C) 80 D) 84
50. 33)4-599’ 16,25, 3¢ 30. 1,4,09, 16, 25,
(C) 48 = 35 (A) 49 (B) 35
AD}"36 «— (C) 48 (D) 36
Gllﬂ\‘-’]flg 18 exam 1 ™~ S ™ ~e -
: . ~ample for | 31. f=afafEg o H-81 9{d =T
Simple umbe] Inflorescence ? I 707 8 .ﬁ FH {i 9=
(A] Oniﬂ'ﬂ rqdf:tﬁﬁT T
L/{’B]/C;riander - ([;B]} _:!
(C) Carrot C)
(D) Fennel . D) o

32. A rectangular coil

: of copper wires
1S rotated in

a magnetic field. The

direction of the ; : :
changes once inh;aclilnduccd m— % H T SR TREfd g @ |
(A) One-fourth revolution Sl (A) TH-=err E‘;"h
(B) Two revolutions (B) &I T‘h
\__A€J One revolution - (C) U= quiq
(D) Half revolution (D) 371&M qllh
33. Due to which scheme. Haryana 33. fFm I % T, BRI Tk giEr

has become the first State in India
to implement the use of injectable
contraceptives as a family planning
measure ?

(A) Salamati Scheme o
- ‘E_-{Bj‘ Operation Muskan ‘. —

5% (C) Antyodaya Aahar Yojna
e (D) Gramodaya

34. The degree of the differential equation

1::34.

3, NP 4
el + 2 =y 18 5 5 . 3
dx 2 dx? dx dx dx dx
(8) 3 (B) 4 (A) 3 (B) 4
ey 2 (D) 7 (C) 2 (D) 7

C

23000227
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35. The portion of the structure above the
ground upto the floor level of ground
floor is known as
(A) Ridge (B) Eaves

& Phnth (D) Dormer

36. This Rohtak based model won the
Miss World title in 2017
(A) Geeta Phogat
(B) Deepa Malik
(C) Sakshi Malik

\~D) Manushi Chillar -

37. The upper horizontal portion of a step
upon which the foot i1s placed while
ascending and descending

k_y_(rlk']‘rcad 1 (B) Riser
(C) Stringer (D) Newel
; JI"":BB I lf x is real, the minimum value of
w —8\.'*1(1‘% i{g"“ﬂ
(Fe "=
(C) -1 (D) 1

39. Which of the following districts of Harvana

i« not drained by Yamuna river ?
\_‘-{ﬂ]f‘}'llSdI ;-f {B] Pﬂllipﬂl

% (C) Sonipat (D) Karnal

/A

40. Find the mirror image.

N E - il

P
w | S ® |-
© | (D) /1/

41. Under which Article, the Parliament may
by law increase the arca of any State ?
(A) Article 3
(B) Article 1
(C) Article 2

L/(Df‘?\rticle 4
v, A
23000227
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qqmwwaﬁqﬁﬁﬂﬁﬁﬁﬁg’a"

35.
F q-"T-Iﬁ"ﬂT:T'?I'Fﬁ?I
(A) 7= (B) ¥
(C) Ty (D) ST
36. iieas =1 3@ Aiew 1 2017 § fawE G FH
faars s
(A) AT BITIE
(B) 9T FicT=
(C) T&T Fic=
(D) TS fdeei
37. UEEE = U0 afve v {5 W Eed IR
= Wﬁmmm—ﬂm%
T ) e (B) T
(C) ™ (D) F= 483
38. If2 x IrafasF 81, a1 x2 - 8x + 17 &1 Jaq
o B 413
(A) 2 (B) O —
(C) -1 (D) 1
39. fyfafaa § o e foe 2 ag 361 =
USR8 & ¢
(A) feam (B) gHIva
(C) GHId (D) FATA
40. = yfafea= Jma =1 |
A |4 ® ||/
€|~ lD)‘
41. %am%whwﬁﬁlmﬁﬂﬁ
mmmmaﬁﬂ
(le
(B) =5« |
(C) =< 2
(D) AF=E2 4
C
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42. Which of the following is not a
communication etiquettes ?

(A) Be Responsible

\_/(E)’Ee Precise .~

(C) Be Polite
(D) Be Credible

43. The value of sin28°co0s62° + cos28°

sinb2° is
(A) g B) 0
_AET 1 D)

44. Haryana is the first State to adopt
t _[AyTirtha Darshana Scheme
(B) Mahila Police Volunteer Initiative

(C) E-governance Initiative Of~J0
(D) Mobile Police Stations FE!%'%

45. The steel plant at Bokaro was set up
in 1964 with collaboration from

(A) England _ABj Russia
(C) USA (D) Japan

uses refraction to
direct the light through the media.
(A) Twisted Pair Cable

(-_/,[ijéptic fiber v~
(C) Coaxial cable

(D) None of the above

46.

47. The Kabaddi World Cup was first

played in
_AAT 2002 (B) 1996
(C) 2004 (D) 2008

48. Haryana Roadways Engineering
Corporation (HREC) is situated at
(A) Gurugram
Faridabad
(C) Panchkula -

(D) girsa

44.

45.

47.

48.

B
(A) g (B) O
©) 1 D) 5

ST STl IR U9 BRI § |
(A) Tl gvi T

(B) Hfgen gieid ©i=s U8
(C) -9 gl -

4 @i § WId 899 o Tl
% eI ¥ I TS |

(A) 5<iS B) ®

(C) JUETY (D) S

Tifea & WIeW ¥ Yehre ol MR
S & T4 27990 1 YA AT S |

(A) STafdd W Fheld
(B) ATeh BIga

(C) THIE AR

(D) I H § TS Tal

TS Tvd 9 Teell 9l T e TR |

(A) 2002 (B) 1996
(C) 2004 (D) 2008
(T= 3R 3 ©Y) 7R |
(A) TEIH

(B) WSS

(CREETI

(D) for
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49. Which flowers are also called

bilaterally symmetrical ?
Zygomorphic °

(B) Regular

(C) Asymmetrical

(D) Actinomorphic

50. DPC stands for

(A) Dry Polygonal Course
(B Damp Proof Course _—"

(C) Dry Plain Course

(D) Deep Pile Cap

S1. Which of the following is not a
number data type in python ?

(A) Char (B) Int
(C) Float (D} Complex

52. If A and B are two matrices of the order
3xm and 3xn respectively and m = n,
then the order of the matrix 5A — 2B is

(A) 3xn
(C) 3x3

'...--_—\_

] 53. ) This lake is mentioned in the ancient
book of Alberuni’s ‘Kitab-ul-Hind’

(A) Hathnikund
(_ABJ Brahma Sarovar {-
(C) Karnal lake
(D) Surajkund
54. ‘Snake’ is related to ‘Hiss’, whereas
E#%E ‘Lion’is related to

G (A) Cry

L/LG)’Rnars

55. Mirza Alijan’s Takhat and Baoli is

situated at

(A) Sohna, Gurugram
(_—1B) Manesar, Gurugram

(C) Narnaul, Mahendragarh

(D) None of the above

(B) Meow
(D) Neighs

23000227

49,

90.

S1.

S2.

53.

54.
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o Bt =7 Rewafta gt sft e ST R 7
(A) STIETHe

STt 7 Terere R

(A) ST YIS g
(B) SF I hid

(C) ST8 H 51

(D) S UT5e

yisaie o Fr=lafen § @ S-a1 & wE=
S T YT T 2 7 E;%
(A) 3T (B) 32 L
(C) FeATe (D) P

I3 A 3 B T 3xm 3R 3xn Hfe Har
AT & AN m = n §, A 3TE 5A - 2B
<hl =Ife BT
(A) 3xn
(C) 3x3

30 3icT =l Joord HeaeH| hl U= JEash
‘Ferema-3a-Toe | fomam T 3

(A) Biige

IS ERERER

CESIEEIR

(D) TS

‘giq’ ‘few’ @ deift g, Sl 4
‘IR e B

(B) mxn
(D) mx3

(B) W&

REIESIEL
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56. Which of the following does not represent

electrical power in a circuit ?

(A) VI (B) I°R
V2
(C) IR? (D) &

S7. Haryana’s first nuclear power plant
was set up in
(A) Sonipat
(C) Fatehabad

(B) Panipat
(D) Rewari

58. Find the odd one out.
(A) 11 (B) 61
(C) 31 (D) 21 7

59. The NITI Aayog came into existence on
(A) 1 January 2016
(B) 1 April 2015 «
(C) 1 April 2016
(D) 1 January 2015

0. The power of concave lens of focal
length S m 1s
(A) —0.2D
(C) —0.16D

6
b

(B) —=0.1D

(D) —0.4D

TF

During which year Sukhna lake was
declared as National Wetland ?

(A) 1990 (B) 1981

(C) 1985 - (D) 1988

The process of covering surface of
walls, columns, ceiling, ﬂc::nnng_and
other building elements with thin
coat of plastic materials (mortar) to
form an even, smooth, 1mpervious
and durable surface are known as

(A) Curing v~ (B) DPC
(C) PCC (D) Plastering

61.

62.

In Harvana Aryabhata Re_giﬂnal Science
Ceng‘? and Museum (Vigyan Kendra)

will be coming up at
(A) Charkidadri
(B) Hisar—~

(C) Ambala)
(D) None of the above

63.

-10-

"E'E %@E.
3
=]/ e

A
|

/

iferer o1 =Tel gian ¢
o (A) VI (B) I°R
VQ
__AeT IR? S D) &
57. ERETOT 351 Tl YTATY] Sl G3H el LIfiq
ERIRIEIRZ 1IN
(A) GiIad (B) IHITd
__AE) BT (D) @Eret
58. fird &l gHT |
(A) 11 (B) 61
(C) 31 AP 21
59. Hifq M 1 TG T 37T |
(A) 1:%?2016
B 1 2015
(C) 1 U 2016
(D) 1 SRl 2015
Bt Tale 5 H. 9cl 37ede oiF ol 9fdd &
(A) —0.2D (B) —0.1D
_tenr-0.16D (D) —0.4D
61. Torg au gEAT =ie ot U T8 oIfH 9ifvd
EIRIE TN
(A) 1990 L—B) 1981
(C) 1985 (D) 1988

62. <A, WY, ©d, B TR 37 Had dcdl hl
Iaqg = T 9, e, 319eg 3R T
gqg S o TolC WTees aril (AieR) @
qael e & HIY HAL H chl Uishar oI

& ATH O ST ST © |

AT T B) SR ik
(C) e (D) wreefar
63. IHue &t fam w3 R wuered (fogm
%) FEl MM@e 7
(A) SISl
AB) TeaR
(C) ST
(D) I9r H U IS TRl
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64.

1S commonly called
processor.

(A) Memory unit
(B) Input device e

—C) Central Processing Unit (CPU)
(D) Mother board

65. In I—I_aryax}a, National Horse Research
Institute is situated at

(A) Rewari _ABy Hisar «—
(C) Sirsa (D) Karnal
66. zf\.rran_ge the words given below in g

meaningful sequence.

1. Nation

2. Village

3. City

4. District

o. State
(A) 1,3,5,4,2
(C) 2,3,4, 1,5

B) 2,3,4,5,1
(D) ]‘.I' 2! 3.‘! 43 5

67. Which of the following is a type of

flooring material ?

: P
(A) Coping (B) Mosaic ™=
(C) Cornice (D) Chajja

68. The Economist who wrote a book
‘Poverty and Famines’

(A) Montek Singh Ahluwalia
__—B"Amartya Sen -

(C) Bimal Jalan —

(D) Gunnar Mirdal

69. Which of the following statements

is /are correct ?
1. Haryana Electricity Reform Act

1997 came into force on %ﬁ

14th Aygust 1998. HIREh

2. Haryana Electricity Reform Act
1997 was passed by the Haryana

Assembly on 2274 July 1997.
(A) Neither 1 nor 2
(B) Only 1
(C) Only 2

L)D—}Bnﬂ:llandQM

23000227
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65.

66.

67.

68.

69.
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I AR T TG el ST & |
(A) ¥R 7fye
(B) ¥qe fearsm
(C) Hgw wrafem e (.6,
(D) AT T8
TSR 319 STqEe™ wET B &
TemE
(A) @t (B) fear
(C) Term (D) FETET g%
et feu T vkl it wh i F Y G
S ShifT |
1. U
2. T
3. I
4. foem
5.
(A) 1,3,5,4,2 (B) 2,3,4,5, 1
(C)2,3,4,1,5 (D) 1,2,3,4 5
T o O - el a6 U TR R 7
(A) THITGT (B) A=
(C) Hig (D) &=
(A) A T8 STTeeEier
(B) &
C) Toma sam
D) TR fia
HEfTRId § ¥ HH-91 /AT a0 8/ ?

1. gimon foea gun s 1997,
14 IS 1998 I AT F3 |

2. i ferga germ srfufAaq 1997,
o fyum g1 g 22 OIS
1997 ! TTita e TR |

(A) T 182
(B) Fad 1

Scanne d with CamScanner



70. An induced emf is produced when
a magnet-is moved into a coil. The
magnitude of induced emf does not
depend on
(A) The strength of the magnet
(B) The speed with which

magnet 1s moved
(C) The number of turns of the coil, -

(D) Th_tle resistivity of the wire of th
col

71. Which of the following is not system
software ?

040
(A) Device drivers ?%

. O
(B) Microsoft word

(C) Operating systems

(D) System utilities "
72. FAR stands for

(A) Floor Approved Ratio

(B) Final Area Ratio

(C) Floor Area Ratio "

(D) Finish Average Reading

Sur Samman Award of Haryana is
given in which field ?

73.

(A) Cinema
(B) Agriculture

(C) Sports

(D) Literature ~~

e

Lr 74. ) Which of the following State has
launched ‘Uttam Beej Portal’ which

will benefit the farmers by providing
quality seeds with transparency ?
(A) Haryana

(B) Rajasthan

(C) Chattisgarh

(D) None of the above

23000227
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' A ! STl S

~ ?qﬁgfﬁﬁ e e & 1 510

ST gy forefR et e

() e 1 T

(B} fy R a1y 9o T T
—1C) ésmﬁ%gma“fsﬁréw

(D) et 3 ar st FiaerRar
71. Fefifad i eAn-ar freH G el § 7

(A) Teemsd ggal

(B) HISHIT TS

(C) AT T¥&eH
By T gRfetes

72. UHUSN H] Haors &

(A) TR RIS T

(B) Wrs-e Tt (M
e TR i e

(D) AT wats ffémn

73. TN 7 G HHH QEHR
o foan T @ |

(A) To=mT

(B) ¥

(C) ©« o
| Py EiE %2%

74. HEiGEd § @ T e 3 ‘S St
ydd @i R @ S ama ameRfa
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English Language

75. The following sentence contains
grammaltical error or idiomatic error
in it. You have to find out that part of
the sentence and choose the alphabet
of that part as your answer.

She 1s more beautiful than anyone of
her two sisters.
(A) No error
(B) She is more beautiful
(C) than
__ABPJ anyone of her two sisters

Give one worc substitute for the
following.

76.

Something that is harmful, poisonous
or injurious.

(A) Notorious
(B) Novice
(C) Nuptial

_—tD) Noxious -~

77. Fill in the blank with apprﬂpl:iate
concord from the alternatives given
below 1t.

Neither Tom nor his friends
come.
L
(A) is _—B) have
(C) does (D) none of these
78. Choose the passive form of the given

sentence from the alternatives given

00
3@ 3; below it.
Will they wash clothes in the evening ?

(A) Will clothes get washed in the
evening ?

(}J/’v’v’ill clothes be washed by them
in the evening ? v~

(C) Will clothes will be washed ?
(D) Won't they wash clothes ?

79.

81.

82.

1.

23000227

Choose the right form of the verb
given in brackets from among tl:le
alternatives given below it and fill 1n
the blank.

He (reach) home before it

slarts raining.

(A) will be reached
(B) rcached

(C) will have reached

(D) will reach

Choose the antonym of the given words
from the alternatives given below it.

Brutal

(A) bestial

(B) compassionate "
(C) inhumane

(D) direct

Choose the correct meaning of the
given idiom.

To hang in the balance.

(A) fruitless task

(B) easy and comfortable

C) to be undecided v+~

(D) to boast

Fill in the blank with appropriate

phrasal verbs from the alternatives
given below it.

Please the names of the

absentees.
(A) call in
(B) call for
(C) call over

(D) callup (—
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